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BUSINESS STATISTICS
( General/Speciality )

Fuli Marks : 70
Pass Marks: 28

Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

1. (@) 0 O SF 77 S A4FPHs Sad #9115

Write down the differences between
primary data and secondary data.

(b) =TS WAl ©E 2@l g W o [ 9
Calculate mean and variance from the
following data :

X : 0-10 1020 20-30 30-40 40-50
1 4 10 22 30

f
X : 50-60 60-70 70-80 80-90
i 35 10 7 1

L&/ Or

(c) Tvgaem =R =1 SeiFEe o[ A1 2 ©=9
PTG RS ASIGHCOR “[41 (3 Q=T AT
fofy w41, @fean 9= 32-5 999 = 2+3=5
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(2)

What is the difference between absolute
and relative measure of dispersion? Find
the missing frequency from the following
distribution when median is 325 marks :

TET : 10-20 20-30 30-40 40-50 50-60
Marks
g1 F3T - 3 5 — 3 1

No. of Students

(d) T=T {7l O A9 (i) SCMST W1, (i) MR
S (iti) LA AT T | 3x3=9

Calculate from the following (i) Geometric
mean, (i) Median and (iii) Mode :

5) 2’ 2’ 31 47 4’ 1

2. (a) FTERE @41 o SRR e e 7 wme 5
What is regression linep Why are there
two lines of regression?

(b) =TS il SURFT oy
BN 7 <vqy

Calcula.te Karl Pearson’s coefficient of
correlation from the following :

n=10 ¥X =140 $Y =150
Z(X-10)? =180 =(Y-15)0?=215
L(X=10)(Y =15 =60

FE PreReT =
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(3 )

g1/ Or ,
(c) “TTTEH HF FAEAT AL SCEY I 5
_ Write down the difference between
correlation and regression.
(d) wFe Tl SN = T TRel FefF 3 9

Calculate coefficient of correlation from
the following data :

IXETATRE (i R1ERE D ALRC S MRS G S R S 81 5 110
Value of X :
Y-37 : 46142 38M34 3026 22 18 14,10
Value of Y

3. (a) PFRS AP AE AE FRICIRECEIFTAML - 5

Define index number and state its uses.

(b) R TP o W SIS (ST T ? Oe
fon @2 7/ frgee oeRE FfT F41 2 3+6=9
Why is Fisher’s index number called ideal
index number? Calculate Fisher’s index
number from the following data :

2003 2005
7 747 k= e AR
Commodity Price Quantity Price  Quantity

A 8 10 10 12

B 10 12 12 8

G 5 8 3 5

D 4 14 14

E 4 S 5 25
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(4)

2§/ Or
(c) PFTI CFae I AT@OIE TEY T4 |

State the limitations of index number.

(d) e=to frn SR REE () T PIRS
(FICRE @ Srpi) WF (i) R ek
(=15 @ weprR) Fdfa ==
Calculate (i} price index (according to
Laspeyres’ formula) and (it) quantity
index (according to Paasche’s index)
using the following table :

a7
Commodity  p, 9o b q
A 4 6 6
B 2 4 4
c 6 2 2

4. (o) oF wfemR 7/ 1, 2, 2 ©9 47 R <=3
SIS be18 51T “iafed ANl eEel e 4

From the following table, calculate trend
values by 3-yearly weighted moving
averages with weight 1, 2, 2 respectively :

7% o ¥ ) T NI T R TN T
Year

AR e 8, S R [T R
Sales (Rs)

(b) e Toneczhr Racn Sca 4 |

Discuss the components of a time series.

9

wn
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(S)

241/ Or

(c) Tﬁmomwﬁﬁﬁmmwaﬁ@
Agerel ey 41 - 5

Find the trend values by 3-yearly moving
average method from the following data :

=9 21960 8 ¥ 96 1819 69 B O 62 B O 6o
Year
I NS 7 9 12 11
Sales
=9 : 1965 1966 1967 1968
Year
e 2 1) 8 12 13
Sales
(d) @@l e ffEg I TR @9 SR

AT 5] | 9
Discuss the methods of measuring
trends.

5. (@) TP Hepm o W SRR S
4T | 5

Mention the purpose and assumptions of
business forecasting.

(b) HerE @ e At mfea [Rae ey

Discuss any three methods of
forecasting.
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(6)

g7/ Or

(c) s oprem™ ey I 41 |

Explain the concept of business
forecasting.

() Rt opfror i bifn P {367 1 |

Explain sales forecasting and demand
forecasting.

kK
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